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PAPER 1 {BOOKLET A)

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each questlon four opttons are grven One of them is the corect answer.
‘,'-Make your chonce (1 2 3 or 4) Shade the oval (1 2 3 or 4) on 1he Op’ucal

L-"Answer Sheet M

(20 marks) :

1 Which one of the following is seven million, four hundred and
s:xty—seven thousand and twenty two’?
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3 Which of these pairs of fractions are equivalent fractions?
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- 4 Arrange the .foll'qwing f_ractions__.in déscerid_in_g _'or'del"._. '
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5 Express % as a decimal.
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7  Find the product of 2-'._a'.r'id %‘
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- 8 Express 103 thousandths as a decimal.
k1) 10.103
(3) 1030 i

iy 108

9 Express 0.04 as a fraction in its simplest form.
S

2

G =

@) o

S ) B

3) CE

@ b8



.»11

S

12

Which one of the following gives the greatest value?
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550 000 + 100

Mrs. Osman-had" %kg of coffee powder. 'She"'-gayje'% of it to her

neighbour. What was, thie mass :o.f the coffee powder that she gave to

her-neighbour?” )
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13 The perimeter of a squage tile is g m. What is the length of each side
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of the tile?
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~The length of a string is 8.25] m The length of a nbbon is 0.7.m shorter

than the length of the strmg Flnd the length of the. nbbon

(1) 7.45m

(2) 7.55m

(3) 8.18m

4) 895m

A total of 44 puplls participated in- a team chailenge The teacher gave

each girl 3 candies and éach boy:1- candy -The teacher gave. out -a
total of 96 candies to all the puplls How many girls participated in:the

. team challenge’?

(4) 28



Name: { ) Class: Pr 5 ( )

".._PAPER 1(BOOKLETB)

Questlons 16 1o’ 25 carry 1 mark each Wnte your ‘answersin the spaces;.-‘_';'
__prowded For questtons whlch requnre untts glve your answers; in. the untts i

Lostated, e T |
! : Tt DTl W L T e e ‘._-_,:"..v.-,-. (10 ma}'ks)'

. 18 Round off 3 469 902 to the nearest thousand. .. -

Ans:

17 Find the value of 348 x76.. © .0

_'A'hs,:‘

18 Find the value of 487 000 +10.+ 100:

A.ns‘;” KECVEIORN




19 'Find the valuye of 48 — 36 +3x4+9.

Ans:

20 Jayden paintéd: % of a wall white. He then paintéc'_i"%"_b'f the. -
remaining part of the wall blue. What fraction of the wall is painted

blue?

21 Find the product of :;:, and % -

Give your answer as a fraction in its simplestform. -/ .-

CAns:




22

~ . Give your-answer as a fraction in'its simplest form.

Find the value of —9'— + 3.
10

23

Find the value of 24.08 = 4.

* 'Give your-answer as'a decimal.. . -

L —

24

What is 425 ml in litres?

Ans:

25" Round off 8:285 to.2 decimal places, . .




- Questions 26 to 30 carry 2 marks each. Show your working clearly in the
space provided for each question and write your answers in the spaces
provided. For questions which reqwre umts give your answers in the units

: stated. ;
S (10 marks)

-_ ‘26 Fmd the drfference between 654 876 and 279 745 by f rst roundlng off a B

the numbers to the héarest hundred.

o ‘--Anss:_ T

27 ? | x134.8'=67.4 x 200 -,

What is the missing number in the Iboi'?: )

; Ans

28  Four identical tins of milk powder cost a total 'of $110.40. Bala had

$15.20 left after paymg for 8 such tms How much money dld he have .

atfrst’7

--_A'ns: $ ‘

10



29° In the i igure’ bélow, ABCD is a square of length 8 cm. Line DC is
paral!el toline GH. Point E'and point F lle on the line GH. Whatis the
total area of the shaded parts‘? .

Ans: _ om?.

30 - How many times does the fiiQit;.‘Z abpéar in.the n,u'mbers__fromj tp 307

Ans:

END OF PAPER
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PAPER 2

Questions 1 to 5 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided.

L -_F'or questlons Whlch requsre umts glve your answers ln the umts stated o
ST (10 marks) e

e rnpfbkmkmmbtce below .

12 + 36 + 3 + 6 x 2 = 20

_2A . Sally packed a total of 2868 pens mto Box A Box B and Box C at fi rst.
. She then.moved 257 pens from Box A fo. BoxB.. As aresuilt, there was. .
an equal number of pens in each’ box How many pens dld Sally pack

in Box A at f rst’?

3 Peter jogged a dlstance of 45§ km Desmond Jogged 10% km IeSS'

| ;"’a“ Petef .HOW far dld 'they JOQ a'tOQether’?f  Give. your answe

N mixed number in Jts snmplest form.. BRI

Ans: ' e T km




There was some lime juice in a jug at first. Gopal poured out 2—6- [ of

_-Ilme 1u1ce from the jug After that Amy poured 1% ! of hme juice lnto

. ithe jug. . There were 5%— 1 of hme ju:ce Ieft m the jug How much o "

. : hme ]utce Was inthé]j Jug at fi rst'? Gwe your answer aea mlxed number1 S

o ints 5|mplest form. -

Ans: : _ !

‘Jenny had to run a distance of42.195 km.  After she had run 19 920 m,
how many more kilometres: had she Ieft to run?- Give your answer
correct to 2-decimal places.

s ki




For questions 6 to 18, show your working clearly in the space provided for
each question and write your answers in the spaces provided.
The number of marks avanlable is shown in brackets [ ] at the end of each

.".,questlon orpart—questlon R U S SP

6 Mrs Zeng had 12% kg of rice. Mrs Wang had 3 times as much rice as

Mrs Zeng.. How many kilogramis of rice did they have altogether?’

" Givé your dnswer ds a mixed riumber in its simiplest form. -

L7 A t_ép, ﬁlls. 14 identical cbﬁta_inérs in 7 hours. .. Af this rate, hov_\f many

L .'min‘ut.es does the tap take .to--ﬁll'.%_ of such-a confainer? -

o Ans: : s '.[3]




In the figure below, BCDE is a rectangle and ABG is a triangle. The

length of BC is 10 ¢m and the length of DC is 6 cm.

B : - : >C

(a) Name the height of tnangle ABC gwen that its base’is BC
(by Flnd the total area of the shaded parts SRR

Ans:. (a) |

)

M

2]




9

10

group of 213 people. .-

A concert ticket was priced at $17. For every 8 tickets purchased, 3

additional tickets were given free. Find the total cost of tickets for a

Raju had some money On Monday, he spent % of hIS money on a

_ pair of jeans and $43:65 on a jacket., On Tuesday he recelved $40'.
~ from hzs mother He then spent $135 to buy a watch and had: $49 75 .

Ieft in the end How fnuch’ dld the pair of j jeans cost‘?

Ans: ' '_-' . [3Y




11

S '- have'?

Kumar had atotal of 1030 red, white and yellow roses at first.  After he

. sold 56 red roses, the number of yellow roses was 4 times the number

of red roses left unsold. After he sold 44 white roses, the number of

.yellow roses was 30 fewer. than the number of white roses left unsold.’

Kumar d|d not sell any yellow roses How many yellow roses dld he""“

_P;ns:_”. . ' ' [4]




12

Mr Chew had a total of 350 fish ‘ba_Hs and fish cakes. After selling -;

. of the fi sh cakes and 80 F sh balls he had % as many f sh balls as fish

y .:.cakes Jeﬂ How many f sh bajls dld he have at f' rst? .

~ Ang:" iy




13  Bob bought 2.4 kg of grapes, 5 kg of iychees and 15 apples. He paid
$41.90 for the fruits altogether. Find the cost of the 5 kg of lychees.

."“:' s r'r::
3 apples 200 g of grapes ‘ T
“for$1 0 for$1.20

Ans: .- s [4]




In the figure below, GAB, GCD and GEF are triangles. Points A, B, C,

14
.. H.B,Eand Flieona straight line. Triangle GAB and triangle GEF o
have the.sanie area The Iehgth of CD 18 6 em: The length of AB: i is PR

S ztnangles GAB GCD and GEF

th

.'.-\

| ."“ch of CD The length of GH IS 8 cm Flnd the total area of'_ R .

. Ans: .. . 4],




15 At first, Samantha had 54 cards more than Cory. After Cory gave 23
cards to Samantha, Samantha had thrice as many cards as Cory. How
many cards did Samantha have atfirst?

Ans o - - _[41

10



16

The total mass of 20 ldent:cal texthooks and 18 identical dictionaries is
2668 kg. Each dlctlonary is 4 times as heavy as a textbook. What is

. the dlfference in mass between a dlc’t:onary and a textbook? - Give your

] "answer in grams T

-"\-._.--

" Ans: B




17

Sally had some money at first. She gave % of her money to her

" '_father She spent % of her remalmng money 'on food and transport .

_\.,

. "'The amount of money she spent on. transp0rt was % the amount of e

R ‘.'money she spent on food She then had $1650 Ieﬁ S 2

(a) How much money. did Sally have at first?

(b): . How much more. money did she spend on food than on

transport’?

- Aris?’ (@ - | 7 -

() —— e

12



18

The cost of each stapler is $0.20 more than the cost of each pen.

Each pen costs twice as much as each pencil.
.- . staplers, 4 such pens and 2 such pencils is $1.80 more than the total
e -,cost of 4 such staplers 2 such pens and 4 such pencﬂs Fmd the cost :-_-_ o
R :of each pen S

Ans:

The total cost of 5.such

. [8]

- END OF PAPER
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QL - Jqz— Q5 - Jq6 Q7. _1Q8 . |09 " |Qio |
Toleir o1z, T A P
3] 1 4
QA6:3ATE 000 S L T T e T e v
Qj? 26448 B I LA T e LA EREE R
Q18487 ) : - o
(199> 48~ (36+3)x4+9,48- [12x4)+9 48-4819=9
1 Y
'-QZ”U 3_392%: jJ/:éua_l'as :
QZI.;;');;(E_H;:S;
023.6.02 -

Q24.0.425 '9425ml— 0. 42511tre o

Q25. 8.29 > 8285=829 ' '

026.375 200 ¥ 654 876~654900, 279745 % 279 700 654 900 - 279 700 : 375 200.
Q27.100 D67.4 x 2 = 134.8, 134.8 x 100 = 13480, 100x134.8= 13480.
028.5236 23$110.40x2 = $220 80, $220.80+ 15. 20=$236. : : :
029:32cm2 =D Area of the Square’ -) ch X 8cm 64cm2 ’;‘z % 8cm x 8em'= 32-':m1r ’
030.13. o
' ) : - , PAPER 2

Q1.20 12+ 36 +(3+6)x2=20 - Jeoow
Q2.1213 32868 = 3= 956,956 + 257 = 1213

Q3. 802 ke > Desmond 45 - 105= 352, Peter + Desmond -935--» 45%= aog

s dlve. w1 . .3 o1 61 T 13 o _61_21_26_66
Q4. S;iitre 55 =ic+Zo=o ——x3i=x2z——mgo=_=5 -—--5-«
12 4 6 12 a4 6 12 12 1z 12 12

Q5. 22 28 242.195km - 19. 920km 22275l = 22 28km .
Q6. SO—kg -} Mrs Zeng -) 12 ,mrs Wanq 9 12- X3 = 37- 12 + 37 = 50 kg

Q7. 24min = 7 hours = 420mins, 14 contamers {:14) -)42_0min (+14 ) = 1 container = 30min,
= of container < 6 min, % of contamer =3 24mins.
Q8a. CD =¥ SER P](‘TI]RE - -

ergint
.'CM

o ____ _,,_,,.,,.._ -—.'_’—?C '.-.:3:.4:"_..' :.,.,,' .. N Y '. ' L o

bﬂSg_, -

Q8h:: 30cm2-) 10cm X 6cm —60cm2 60cmz 2= 30cm 2
Q9.$2652 3’1 CT-> $17,213 - 200.='4,152 x $17 = $2584, 4x$17 $68 $2584 +68.= $2652 -
Q10.$94.20 3$49.75 — $40 = $9.75, $9.75 + 43.65 + 135 = $188.40, $188.40 = 2 = $94.20
Q11.400 > 1030-56 = 974, 974 -44=930; 930 =30 =900, 900:9 = 100, 100 x 4 = 400
Q12.140 2> 350 -80= 270,270+ 9 = 30 30x2=60,60+80=140 -
- PAGE1 . - '
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Contact www.privatetutor.com.sg



(Q13.3522.50 > 2.4kg ') 2400g, 2400g = 200g=12,12x $1. 20 $14.40,3 app]es > $1 15 apples -) $5,
$14.40+5=1519.40,$41.80 - $19.40 = $22.50.

Q14. 56cm2 > SEE PICTURE

AB »6cm + 3 = 3cm, 2cm x 2= 4cm

Area of 1 ¥ % x 4cm x 8cm = 16cm?,

Area.of 2> ¥ x cm x 8cm = 24cm?,
,!’mce.aof?»-)'16t:m21t’:<:rnz+24r:n':2+16cm2 56(:m2 } e I

[

. Q15.127 9 23+ 54 =23.= 100,100 = 2: =50, 50+23+54 127.. :
+ 'Q16.870g > 18 x 4 =72, 72+20 =92; 26.68kg = 92 =0.29kg; 4~1-= 3; 0:29kg x3 =0.87kg = 870g
Q17a. $5500 > $1650 = 3 = $550, $550 x 8 = $4400, $4400 + 4= $1100,51100 x5 = $5500

Q17b. $165094 1=3, $550x3 $1650.
.018.$0.80 D $1. 80 - $020 $16 $1.60 = 4 $040 $040x2 3080

THE END_. .

Y




	Nanyang Priamry School SA1

